50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 10MRSS
Fifth Semester B.E. Degree Examination;-Dec.2018/Jan.2019
Marine Machinery and s%em Design
Time: 3 hrs. Max. Marks:100

. ._
Note: 1. Answer any Il questions, selecti,
1 a.  What are the design conmdera’%pns for plastic mouldmg & (06 Marks)
b. Write the design considetation for surface finish. (04 Marks)
c. Explain the classificati (10 Marks)
&
2 a. A multi-cylindér eggme istorunat a const&%%ﬁload and at a speed of 600rpm on drawmg the

4

crank effon&(ziagmm to a scale of Imm¢ m@S’ON-m and lmm = 3°, the areas in mm’ above
and below¢the mean torque line are as fgllﬁ”ws +160, —172, +168, —191, +197, —162 mm’
The spped is to be kept within 1% 6f the moment of the flywheel, with a rim whose breadth
is tvg@se 1’2? radial thickness. Tl}e‘“‘%% sity of cast iron 1{7@50 Kg/m® and working stress in
tension i$ 6MPa. Assume that thé contributed 92%. 0f the ﬂywheel effect. (10 Marks)
b. A line shaft is driven by means , of a motor placed; C i pulley on the shaft
is 1.5m in diameter and has: MQelt tension 5.4 nd slack side of the
belt respectively. Both*’ these tension may_be -a: sumed to be vertical. If the pulley be
overhang from the shaft the distance of th'e egﬁre line of th pulley from the centre line of
f gsthax allowable shear stress of
(10 Marks)

42 MPa.

b

plSth 190mm and co 14|
Tength to diameter rati
i in pressure as 10N/fam® and 15N/mm?. The density of materlal of the
as OOOkg/m an%’;he allowable stress in the bolt as 60N/mm’ and in cap

d is to be of I-section for which you can choose your own proportions.

or big and bearmg as 1:3 and smal] end bearing as 2 and the

(15 Marks)
(05 Marks)
a. List down the types of@ﬁ”és and explain globe valve. (10 Marks)

b. A helical torsion sprmg 6f mean diameters 60mm is made of a round wire of 6mm diameter.
Ifa torque of 6 N“&m 1S apphed on the spnng fmd the bendmg stress induced and the angular

spring materlaiﬁf? 2000 kN/mm’. The number of effective turns may be taken as 5.5
(10 Marks)
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a. Explain gear pump with neat sketch. : (10 Marks)
b. Write a short note on intermediate shaft and T: ind Shaft. (10 Marks)
a. Explain with neat line diagram, lub i i Igine. (10 Marks)
b. Write down any 15 properties o i / (10 Marks)
&

a. Sketch and explain two stage (10 Marks)
b. Explain with neat sket ction and spill controll€ (10 Marks)

Explain types (10 Marks)

o=

Write a short (10 Marks)



